BID SUMMARY

TITLE: REDWOOD VALLEY WATER INFRASTRUCTURE RETROFIT PROJECT

ADVERTISED DATE: March 11, 2020 BID OPENING DATE: April 14, 2020

PREPARED BY: Jannaliese Blundell DATE: 4/15/2020 CHECKED BY: William Wood

				Ghilotti C	Construction		
			Company, Inc.		ENGINEER'S ESTIMATE		
					O. 1		
				UNIT		UNIT	
NO.	DESCRIPTION	UNIT		PRICE	AMOUNT	PRICE	AMOUNT
	REDWOOD VAL						
1	6-Inch Water Main (Type A Trench)	LF	6851	\$122.60	\$839,932.60	\$130.00	\$890,630.00
2	6-Inch Water Main (Type B Trench)	LF	5857	\$79.00	\$462,703.00	\$125.00	\$732,125.00
3	6-Inch Water Main (Type C Trench)	LF	1567	\$77.00	\$120,659.00	\$100.00	\$156,700.00
4	8-Inch Gate Valve	EA	2	\$1,800.00	\$3,600.00	\$3,000.00	\$6,000.00
5	6-Inch Gate Valve	EA	77	\$1,410.00	\$108,570.00	\$2,900.00	\$223,300.00
6	2-Inch Gate Valve	EA	3	\$1,015.00	\$3,045.00	\$2,500.00	\$7,500.00
7	Combination Air Valve	EA	3	\$5,490.00	\$16,470.00	\$6,000.00	\$18,000.00
8	Blow-Off	EA	30	\$4,950.00	\$148,500.00	\$5,000.00	\$150,000.00
9	1 - Inch Water Service Lateral	EA	107	\$2,440.00	\$261,080.00	\$2,500.00	\$267,500.00
10	Dual 1 - Inch Water Service Lateral	EA	24	\$3,160.00	\$75,840.00	\$3,000.00	\$72,000.00
11	1-Inch Meter And Double Check Valve	EA	155	\$1,810.00	\$280,550.00	\$1,000.00	\$155,000.00
12	Connect New Water Service Lateral To Existing Main	EA	21	\$1,630.00	\$34,230.00	\$1,500.00	\$31,500.00
13	Replace Existing Water Service Lateral Connection on Existing Main	EA	45	\$1,710.00	\$76,950.00	\$1,500.00	\$67,500.00
14	Cut In Tee	EA	9	\$9,240.00	\$83,160.00	\$9,000.00	\$81,000.00
15	Connect To Existing 4-Inch, 6-Inch, or 8-Inch Water Main	EA	3	\$7,600.00	\$22,800.00	\$6,000.00	\$18,000.00
16	Connect To Existing 2-Inch or 3-Inch Water Main	EA	3	\$5,800.00	\$17,400.00	\$6,000.00	\$18,000.00
17	Remove Existing Tee	EA	5	\$3,400.00	\$17,000.00	\$5,000.00	\$25,000.00
18	Abandon Gate Valve or Blow-Off	EA	6	\$500.00	\$3,000.00	\$1,000.00	\$6,000.00
19	Abandon Wharf Hydrant	EA	1	\$475.00	\$475.00	\$1,000.00	\$1,000.00
20	Remove Existing Saddle	EA	8	\$1,640.00	\$13,120.00	\$3,000.00	\$24,000.00
21	CMP Storm Drain Repair	EA	5	\$2,000.00	\$10,000.00	\$500.00	\$2,500.00
22	Traffic Rated Utility Box	EA	13	\$410.00	\$5,330.00	\$750.00	\$9,750.00
23	Lower Existing Irrigation Lateral	LS	1	\$7,000.00	\$7,000.00	\$3,000.00	\$3,000.00
24	Removal of Existing 4" Water Main at Existing Valve	LS	1	\$2,700.00	\$2,700.00	\$2,500.00	\$2,500.00
25	Remove Existing 2-Inch Tee	EA	1	\$1,395.00	\$1,395.00	\$5,000.00	\$5,000.00
26	Sheeting and Shoring	LS	1	\$21,000.00	\$21,000.00	\$7,000.00	\$7,000.00
27	12' Access Gate	LS	1	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00
	Base Contract Total Bid:				\$2,646,509.60		\$2,988,505.00
28	6-Inch Water Main (Type A Trench)	LF	1	\$150.00	\$150.00	\$130.00	\$130.00
29	6-Inch Water Main (Type B Trench)	LF	1019	\$100.00	\$101,900.00	\$130.00	\$127,375.00
30	6-Inch Water Main (Type C Trench)	LF	793	\$90.00	\$71,370.00	\$100.00	\$79,300.00
31	6-Inch Gate Valve	EA	8	\$1,435.00	\$11,480.00	\$2,900.00	\$23,200.00
32	Blow-Off	EA	2	\$5,200.00	\$10,400.00	\$5,000.00	\$10,000.00
33	1 - Inch Water Service Lateral	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
34	1-Inch Meter And Double Check Valve	EA	1	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00
35	Cut In Tee	EA	1	\$9,300.00	\$9,300.00	\$9,000.00	\$9,000.00
36	Connect To Existing 2-Inch or 3-Inch Water Main	EA	1	\$6,300.00	\$6,300.00	\$6,000.00	\$6,000.00
37	Remove Existing Saddle	EA	1	\$1,700.00	\$1,700.00	\$3,000.00	\$3,000.00
38	Storm Drain Replacement	LS	1	\$4,250.00	\$4,250.00	\$4,000.00	\$4,000.00
39	Sheeting and Shoring	LS	1	\$6,500.00	\$6,500.00	\$3,000.00	\$3,000.00
	Subtotal Schedule A Additive Bid:				\$227,550.00		\$268,505.00
40	Fire Hydrant	EA	1	\$7,000.00	\$7,000.00	\$4,000.00	\$4,000.00
	Subtotal Schedule B Additive Bid:				\$7,000.00		\$4,000.00
	Total Bid:				\$2,881,059.60		\$3,261,010.00
☆	Corrected Amount						
1							

BID SUMMARY

TITLE: REDWOOD VALLEY WATER INFRASTRUCTURE RETROFIT PROJECT

ADVERTISED DATE: March 11, 2020 BID OPENING DATE: April 14, 2020

PREPARED BY: Jannaliese Blundell DATE: 4/15/2020 CHECKED BY: William Wood

NO.				Team Ghilotti NO. 3		ENGINEER'S ESTIMATE	
NO.						Zi (Gii (Zi	
NO.				UNIT		UNIT	
	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT
	REDWOOD VALI						
	6-Inch Water Main (Type A Trench)	LF	6851	\$103.00	\$705,653.00	1	\$890,630.00
	6-Inch Water Main (Type B Trench)	LF	5857	\$67.00	\$392,419.00		\$732,125.00
	6-Inch Water Main (Type C Trench)	LF	1567	\$53.00	\$83,051.00	1	\$156,700.00
	8-Inch Gate Valve	EA	2	\$2,577.00	\$5,154.00		\$6,000.00
	6-Inch Gate Valve	EA	77	\$2,100.00	\$161,700.00		\$223,300.00
	2-Inch Gate Valve	EA	3	\$1,725.00	\$5,175.00		\$7,500.00
	Combination Air Valve	EA	3	\$6,000.00	\$18,000.00		\$18,000.00
	Blow-Off	EA	30	\$7,400.00	\$222,000.00		\$150,000.00
	1 - Inch Water Service Lateral	EA	107	\$3,167.00	\$338,869.00		\$267,500.00
	Dual 1 - Inch Water Service Lateral	EA	24	\$4,750.00	\$114,000.00		\$72,000.00
	1-Inch Meter And Double Check Valve	EA	155	\$3,925.00	\$608,375.00		\$155,000.00
	Connect New Water Service Lateral To Existing Main	EA	21	\$500.50	\$10,510.50		\$31,500.00
	Replace Existing Water Service Lateral Connection on Existing Main	EA	45	\$910.00	\$40,950.00		\$67,500.00
	Cut In Tee	EA	9	\$6,700.00	\$60,300.00		\$81,000.00
	Connect To Existing 4-Inch, 6-Inch, or 8-Inch Water Main	EA	3	\$6,010.00	\$18,030.00		\$18,000.00
	Connect To Existing 2-Inch or 3-Inch Water Main	EA	3	\$4,400.00	\$13,200.00		\$18,000.00
	Remove Existing Tee	EA	5	\$6,120.00	\$30,600.00		\$25,000.00
	Abandon Gate Valve or Blow-Off	EA	6	\$1,177.00	\$7,062.00		\$6,000.00
	Abandon Wharf Hydrant	EA	1	\$2,391.00	\$2,391.00		\$1,000.00
	Remove Existing Saddle	EA	8	\$3,850.00	\$30,800.00		\$24,000.00
	CMP Storm Drain Repair	EA	5	\$1,300.00	\$6,500.00		\$2,500.00
	Traffic Rated Utility Box	EA	13	\$1,600.00	\$20,800.00	1	\$9,750.00
	Lower Existing Irrigation Lateral	LS	1	\$13,000.00	\$13,000.00		\$3,000.00
	Removal of Existing 4" Water Main at Existing Valve	LS	1	\$13,000.00	\$13,000.00		\$2,500.00
	Remove Existing 2-Inch Tee	EA	1	\$5,300.00	\$5,300.00		\$5,000.00
	Sheeting and Shoring	LS	1	\$10,826.50	\$10,826.50		\$7,000.00
27	12' Access Gate	LS	1	\$9,475.00	\$9,475.00	\$8,000.00	\$8,000.00
	Base Contract Total Bid:				\$2,874,739.50		\$2,988,505.00
28	6-Inch Water Main (Type A Trench)	LF	1	\$103.00	\$103.00	\$130.00	\$130.00
	6-Inch Water Main (Type B Trench)	LF	1019	\$67.00	\$68,273.00		\$127,375.00
	6-Inch Water Main (Type C Trench)	LF	793	\$53.00	\$42,029.00	1	\$79,300.00
	6-Inch Gate Valve	EA	8	\$2,100.00	\$16,800.00		\$23,200.00
-	Blow-Off	EA	2	\$7,400.00	\$14,800.00		\$10,000.00
	1 - Inch Water Service Lateral	EA	1	\$3,167.00	\$3,167.00		\$2,500.00
	1-Inch Meter And Double Check Valve	EA	1	\$3,925.00	\$3,925.00		\$1,000.00
	Cut In Tee	EA	1	\$6,700.00	\$6,700.00		\$9,000.00
	Connect To Existing 2-Inch or 3-Inch Water Main	EA	1	\$4,400.00	\$4,400.00		\$6,000.00
	Remove Existing Saddle	EA	1	\$3,850.00	\$3,850.00		\$3,000.00
	Storm Drain Replacement	LS	1	\$2,507.00	\$2,507.00		\$4,000.00
	Sheeting and Shoring	LS	1	\$3,700.00	\$3,700.00		\$3,000.00
	Subtotal Schedule A Additive Bid:				\$170,254.00		\$268,505.00
40	Fire Hydrant	EA	1	\$14,000.00	\$14,000.00	\$4,000.00	\$4,000.00
	Subtotal Schedule B Additive Bid:				\$14,000.00		\$4,000.00
	Total Bid: Corrected Amount				\$3,058,993.50		\$3,261,010.00
^	Corrected / Hirodint						

CONTRACT NO. 200001 DISTRICT: 1

COUNTY: MENDOCINO

DATE: 4/15/2020

Valley Paving					
NO. 2					
UNIT					
PRICE	AMOUNT				
\$110.50	\$757,035.50				
\$85.30	\$499,602.10				
\$63.00	\$98,721.00				
\$1,740.00	\$3,480.00				
\$1,310.00	\$100,870.00				
\$395.00	\$1,185.00				
\$3,895.00	\$11,685.00				
\$5,774.00	\$173,220.00				
\$4,830.00	\$516,810.00				
\$7,389.00	\$177,336.00				
\$1,787.00	\$276,985.00				
\$424.00	\$8,904.00				
\$511.00	\$22,995.00				
\$6,602.00	\$59,418.00				
\$1,703.00	\$5,109.00				
\$1,422.00	\$4,266.00				
\$1,830.00	\$9,150.00				
\$423.00	\$2,538.00				
\$289.00	\$289.00				
\$1,203.00	\$9,624.00				
\$570.00	\$2,850.00				
\$871.00	\$11,323.00				
\$3,340.00	\$3,340.00				
\$1,313.00	\$1,313.00				
\$400.00	\$400.00				
\$8,666.00	\$8,666.00				
\$3,323.00	\$3,323.00				
	\$2 770 427 60				
	\$2,770,437.60				
\$110.50	\$110.50				
\$66.00	\$67,254.00				
\$63.00	\$49,959.00				
\$1,310.00	\$10,480.00				
\$5,774.00	\$11,548.00				
\$2,370.00	\$2,370.00				
\$1,787.00	\$1,787.00				
\$6,602.00	\$6,602.00				
\$1,422.00	\$1,422.00				
\$1,203.00	\$1,203.00				
\$2,366.00	\$2,366.00				
\$1,733.00	\$1,733.00				
	\$156,834.50				
\$3,700.00	\$3,700.00				
	\$3,700.00				
	\$2,930,972.10				
\$3,700.00	\$3,700.0 \$3,700.0				

CONTRACT NO. 200001 DISTRICT: 1

COUNTY: MENDOCINO

DATE: 4/15/2020

Argonaut Constructors					
NO. 4					
UNIT	AMOUNT				
PRICE	AMOUNT				
\$129.00	\$883,779.00				
\$91.00	\$532,987.00				
\$75.00	\$117,525.00				
\$1,800.00	\$3,600.00				
\$1,500.00	\$115,500.00				
\$850.00	\$2,550.00				
\$5,700.00	\$17,100.00				
\$5,700.00	\$171,000.00				
\$4,000.00	\$428,000.00				
\$4,850.00	\$116,400.00				
\$2,300.00	\$356,500.00				
\$1,400.00	\$29,400.00				
\$1,800.00	\$81,000.00				
\$8,500.00 \$8,000.00	\$76,500.00 \$24,000.00				
\$4,500.00	\$13,500.00				
\$4,400.00	\$22,000.00				
\$325.00	\$1,950.00				
\$800.00	\$800.00				
\$2,200.00	\$17,600.00				
\$4,200.00	\$21,000.00				
\$290.00	\$3,770.00				
\$2,800.00	\$2,800.00				
\$2,500.00	\$2,500.00				
\$2,800.00	\$2,800.00				
\$300.00	\$300.00				
\$5,000.00	\$5,000.00				
	\$3,049,861.00				
¢150.00					
\$150.00 \$125.00	\$150.00 \$127,375.00				
\$90.00	\$71,370.00				
\$2,000.00	\$16,000.00				
\$5,700.00	\$11,400.00				
\$5,000.00	\$5,000.00				
\$2,500.00	\$2,500.00				
\$10,000.00	\$10,000.00				
\$4,500.00	\$4,500.00				
\$2,800.00	\$2,800.00				
\$4,500.00	\$4,500.00				
\$50.00	\$50.00				
	\$255,645.00				
\$8,800.00	\$8,800.00				
	\$8,800.00				
	\$3,314,306.00				